4
CHANTO

HBE SR EZEE
RN

R N3 K
SC 235

| ]

Sl ) i
I

SC

SCD

SFC

e &
5
lI, ii' RILVEE -

#4182

A
ABA

1. SC RIIMEBRUTE

1mmElFIELLE -
2. BETEI RN EMBEE -
3. BRERBTIREEREER

4. METPICEESEEEE
RS0 - WETILUFREE

RZ{TIZAER -
& 5 7] iR E
|J II |
B J
| V4 pum.,_|
1]\ ™
| sc/SFC mmEms| | /
o | NI VA R 2
ol N NP
LT x,,ﬁff/ >
|/ f;fxx,/ 1
/ .-"""f/ ] ﬁ\-‘i“‘-ﬁ. \
f:._.f-“ = xﬁx‘ﬁ-—aq_
BRITEE

PEEARREEMELNERDHERE

— 1 NC
|
R E
|
1| AR % | JRAR
2 | BRRTE NC| T TR
3 | EEREE




B R EHESEAR

Ex(Nm): EhBE

EnlNm): BEEnEER

ErlNm); #8SEEE

ErciNm): #/)\iSBEER

FIN): #£3E7=0.00785 Pd®
Fm(N): BXHER=1.2ET/S (&)
glm/s®): ENIEE

o EERRREY

g (rad). ZEERBARFESEE
(2 (rad/s).BEE

We(kg): B ERE

dimm): |EIRE

him): ==

HM: fRiEHREHmE=-2.5
mlkg): BEBER
Plbar): {EENEE]

Rlm): 34§

Rs(m): HEE @38 E P BYFEEE

Sim): HEEEIETIE
T(Nm): BEENED
tlsec): BiEFR
Vim/s): @%EE

ClHr): B/ IR B KWikw): BENSREINR
h R 48 7 58 {25 R 51
(1) BHINDHEEIRVEE | (2) ;B BHINIHEEDEVIDRE (3) BEEE
" — N by
ernlN |
= ==SENIS S =
% N ™
BHEE e mxV?e mxV?
2 2
T{FRER Eo FxS 0 MXgxs
SHEER Er Ex+Enb Ex+Eb Ex+Eb
B/ SEEEES Emc ErxC Erx C ErxC
e X Er 2 X Er
BUERE We T m V2
BREEEE Vv - - v 2xgxh
[=1pt 9= SC2540 ; SD3650 SC1415-1 ; SD4250 SC2580-1 ; SA3660
(4) fHiEBEENDRE (5) RBE2BE (B6) fEss@Ee nE
w - — L]
w =) : “T“‘*_m N
Z S
2
P Ex “"';‘"' 0.25XmXV1?
TEsEm £, 1000X KW:;HMXST}(S MXSXSinBXg fl;c:]
SEER = Ex+Eb Ex+Eo Ex+Eo
B\ EER Erc ETx C Erx C Erx C
2xE 2 xE exE
HRERE We % % %
(VtxRs)
BEEERRE Vv - VY 2gxLxSinf Rt
[SIp1 == SC3660-2 ; SD4275 SC2540-1 ; SD4275 SC3660-3 ; SD4250




AERIR

) SC0806 ) SC0806-NC
MBX1,0P $1% B=11 " MBX1,0P $18 B=11 -
(C-12.6) / a c=12.80 /7 ol
— ] s
) =
- e S )
RE - 8l
45 | | 34 g |las|® 4.5 34 6|
53 445
BNRARNER BAEVNER  SSHERRE | 8/ WRIEER EERE
Nm We(ka) m/s Nm °oC
SC0806-1 B 1.8 0.9~5.8 2 4320 -10~+70
SC0806-2 6 1.8 2,5~10 1.2 4320 -10~+70
SC0806-3 B 1.8 5.6~22.5 0.8 4320 -10~+70
- SC1008 ) SC1008-NC
M10X1.0P il B=12.7 M10X1.0P #i@ B=12.7
(C=14.5) _/ (C=14.5) I
© 1
8 —-
T it S, f
3| P4 3| 8
_14.6| 40.9 _l.8_|85_ _4.6_ 40.9 e
" 62 " - 53.5 -

BRARARNGER BABYER EEEREE | /) RREER
Nm We(kg) m/s Nm
SC1008-1 8 3.2 0.89-10 2.6 7680 -10—-+70
sSc1008-2 8 3.2 2.8~7.8 1:5 7680 -10-+70
SC1008-3 8 3.2 10~40 0.8 7680 -10~+70
) SC1210 . SC1210-NC
M12X1.0P 418 B=14 . M12X1.0P $158 B=14 o
RN =18 7 2 N (C=168) £
;| =
L e/ o —
4 o 4
48 47.8 10 |a.5 | ® 48 47.8 10
. 72.1 ] [ 62.6 _
1J 2 I\ im
o 72 BRRARNES| BAXBUER EEEREE | S/)\FRIEER FHaRE
mm Nm WE{kg] m/s Nm 5 B
SC12101 10 B 1.8~18.8 2.6 14400 -10~+70
SC1210-2 10 6 5.3~33 1.5 14400 -10~+70
SC1210-3 10 B 12~75 0.8 14400 -10-+70




AN

o SC2525 ) SC2525-NC
# B=32 M25X1.5P i# B=32
M25X1.5P %% @ m—7(g=35,;; @
f 1
I Dot :
| 1L af J
_J — 1 =
10 10
10 101 25 _|16.6 10 101 25
152.6 136

SREARUESR BABHER ‘ BEESEE | S/)\EREER

We(kg) m/s Nm
SC2525-1 25 78 15~69 3.2 70200 -10—-+70
SC2525-2 25 78 39~-483 2 70200 -10~+70
SC2525-3 25 78 108~1733 { 70200 -10~+70
. SC2540
M25X1.5P ¥ B=32
EJE:EE.?J ’_/ 5

—— N |

|

- I m

10 %’.’

10 127 40 34
211

FABRARGER BABVER

Nm We(kg)
SC2540-1 40 122 20~108 3.5 87840 -10~+70
sSC2540-2 40 122 50~381 2.2 87840 -10~+70
sSC2540-3 40 122 244~1991 1 87840 -10~+70
. SC2580
M25X1.5P ® B=32
(C=36.7) 7 g
| |
|l [ J—J ]
- 10
137 100 | BO 16.6
. 333.6 _

SARARYER BRATUER | DEEREE | 3/)\WREER

Nm
SC2580-1 80 188 24.7~89 4 118800 -10~+70
sc2580-2 80 198 44396 3 118800 -10~+70

SC2580-3 80 198 176—~1584 1.5 118800 -10~+70




EUFILRERRAET

ELRIECEZEITE

U_J:H =i w =

EIfFIEIRIE '

|

R

- EAEMMH
T >
oS
Gl R R EHBINE
/"ﬂ'Ei M20X1.5P 802020
f% | SC2050
Jscos | {5 )8C20 __i SFC2016
w SC0806 ¥ I | sco2030
n w ” SCD2035
M10X1.0P M25X1.5P
./ SC10 a E SC1008 . 8C25 p __g* SC2525
SFC2525
12,7 17 ‘ a2 ag
M12X1.08 M25X1.5P
)SC12 7 W Ry - [ SC2540
./ SC ww SC1210 8C25L 4 T3 SC2580
l W SFC2540
14 20 az -
M14x1.5P M3EX1.5FP
)sc14 | LI 4 | 3 SC1415 SC36 Y o e SC3660
i w e SFC1410 9 : SFC3650
19 28 45 80




